4.28 -« A person pulls hori-  Figuro E4.28
rontally on block § mm Fig.
E4.28, cauwsing both blocks to
move together as a umil. While
this system 15 moving, make a
carefully labeled free-body dia- _
eram of block A if (a) the table o g v

is frictionless and (b) there 1s fniction between block B and the

table and the pull s equal to the fnction force on block B due to
the table.




847 =+ A frictionless pulley
has the shape of a uniform solid
disk of mass 2.50 kg and radius
200 cm. A .50k stone is
attached to a very light wire that
is wrapped around the rim of the
pulley (Fig. E9.47), and the sys-
tem is released from rest. (a) How
far must the stone fall o that the
pulley has 450 1 of kKinetic
encrgy?T (b) What percent of the
botal kKinetic energy does the pul-
ley have?

Figure E9.47

L2 50-ke
pulley

1.50-kg
SLoNe



1142 - EP A small block on a
fricionless, honzontal swrface
has a mass of 00250 ke, It is

attached to a massless cord pass-
g through a hole in the surface
(Fig. E10.42}. The block is ongi-
nally revolving at a distance of
0300 m from the hole with an

angular speed of 1.75 rad/s. The
cord is then pulled from below,

shoriening the radivs of the cir-
cle in which the block revolves

FHgure E10.92

b 01530 m. Model the block as a particle. (a) Is the angular momsen-
tum of the block conserved? Why or why not? {b) What is the new
gngular speed? () Find the change in kKinetic energy of the block.
(d)} How masch work was done in pulling the cord?



3.86 -+ The “Giant Swing” af a county fair consists of a vertical
central shaft with a number of horzontal arms attached at its upper
end (Fig- E5.46). Each arm supports a seat suspended from a cable
5.00 m long, the upper end of the cable being fastened to the arm at
a point 300 m from the central shafit. (a) Find the time of one rey-
olution of the swing if the cable supporting a seaf makes an angle
of 30,07 with the vertical. (b) Does the angle depend on the weight
of the passenger for a given rate of revolution?

Fgure ES.46




143 * A block with mass (.50 kg is forced against a horizontal
spang of negligible mass, compressing the spring a distance of
0.20 m {Fig. P7.43). When released, the block moves on a honzon-
tal tabletop for 1.00 m before coming to rest. The spring constant &
is 100 N/m. What is the coefficient of kinetic friction gy between
the block and the tabletop?

Agure PT7 .43

I:-ll]:l]'ﬂlrm m = 050 kg

i
1.00 m >‘

[



628 -+ On an essentially frictionless, horizontal ice rink, a skater
moving at 3.0 m/s encounters a rough patch that redoces her

spoed (o 1.65 mys due to a fnction force that 15 25% of her weight.
Use the work—enengy theorem to find the length of this rough

patch.



10.38 -« Find the magnitude of the angular momentum of the
second hand on a clock about an axis through the center of the

clock face. The clock hand has a length of 15.0 cm and a8 mass of
6.0 g, Take the second hand to be a slender rod rodating with con-

stant angular velocity about one end.



8.24 * Block A in Fig. EE.24 has mass 1.00 kg. and block 8 has
meass 3.000 kg. The blocks are forced together, compressing a spang
5 between them; then the system is released from rest on a level,
frictionless surface. The spning, which has negligible mass, is not
fastened to cither block and drops to the surface after it has
expanded. Block B acquires a speed of 1.20 my's. (a) What is the
finad speed of block A? (b) How much potential energy was stored

in the compressed spring?

FAgure EE.249
m, = 100 kg My = 3.00 kg

[ T




